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GEOGRAPHY
(Regular Elective )
Answer the Questioﬂs from any one Option.

OPTION-A
Paper : GGY-RE- 5016 ‘

{ Environmental Geography and
Disaster Management )

" OPTION-B

Paper : GGY-RE- 5026

( Cartographic and Quantitativé
Techniques in Geography)

Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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OPTION-A

(Environmental Geography and
Disaster Management )

* Paper : GGY-RE- 5016
‘1. -Answer the folloW1ng questions : (any seven)

o 1x7=7
e fiml e e fal 3 (e i)

(a) The Indian Wlldhfe Protectlon Act was |

enacted in:
- @ﬁ@nwmﬁwwqwﬁHMﬁwms
i) 1962 L |
3% BS
(i) 1972 -
. 3393 e |

(iii). 1982 |

DI
(iv) 1992

SO BHE
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(b) Which of the following is not a natural.
disaster ?

T (P! ARPOT ?{mﬁ q2A?
(i) Tsunami
TR
(ii) Flood
AT
(iii) Nucléar explosion
feFw Rewed
(iv) Cyclone
yiierE
() Which of the following is not a
greenhouse gas ?
PRSI PR ﬁmﬁsa (olg w2 2
(i) Carbon dioxide
T OiEEEIRE
(ii) Ozone
W
(iii) Oxygen
(iv) All of the above
goFe Al SRS
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(e)

. (d) Which of the following is not the direet

part of hydrological cycle ?

;T;mﬂtmmma% cvnwvlf"’mﬂwﬁf

(i) Evaporation
Rl
(i) Condensation .

boicro i

T

(iii) Infiltration

_ fon

(iv) Precipitation
SLECFo

BOD stands for

BOD 9

. (Fillin the blank)
—— DR (T I 79 =)

The development that causes least |

damage to the env1ronment is called

(Fill in the blank)
wﬁma N RTB09 S e

’ (YT 312 o139 =)
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(9)

The point where first movement occurs

durlng earthquake is ,called
(Fill in the blank)

. fRR 2w (SRR g ([ (O

(r)

0)

(k)

)
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@ (T} 31T 799 )

Sound frequency is expressed in
(Fill in the blank)
I T W
(AT 312 o3 )
Name any one cause of air pollution.
AP Repicar 451 el o

Who was the first person‘to} use the

N HRINT

term ‘environmental geography’?

ARG R =B R I IR I 2

Name any one of global enilironmental
problem.

*[RA ARCPIGIS T I 51T 4 |
Name any one natural disastar of
North-East India.

Te-+[7 BRe ﬁmaﬁmmﬁam |
fern
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2. Write short notes on the following: |
(any four) 2x4=8

oS TR 5 (Ot Bl s (R s1amy)

(@) Deforestation
AT

(b) Biodiversity
et

() Cyclone.
Tireiz.

(d) Air pollution
M e

(e) CFC

R I

() Desertification

T
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(g) Land degradation .

ol SRe
(h) Tsunami

gt

Answer any three of the following
questions : 5x3=15

T I [ fombIT TEs I ¢

(@)

(b)

(9

(d)

What -are different types.of global
environmantal problems ?

AR eARceratte &Kfer wErrRE 5 2

Write the benefits and problems of river-

" dams.

TRIES TR S TTOIPRE i | -

Mention the causes and consequences
of flood. :

WﬂﬁawqmﬁﬁWWWl

State at least three steps to be taken in
flood-prone areas to save life and

property ?
IFAN] TGRS TeT® Fige O F=4G THR

PR TATE TR T SRR |
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(e)

How does air pollution create health
hazards ?

L Y A (IS FYR S vrdiel wwig e ?
() - How do droughts affect man and his
- environmat ?

MR IR (P W = 9{1%@*13 8IS

ool e[ Wa?

(g) What is the difference between hazards

and disastar? .

. I®% TSR T e sty B
(h) Mention the ecological serwces provided
by forest.

T ﬁﬁﬁaﬂ% TP S =
Answer any three of the followmg
questions : 10x3=30
weTs AR e Fﬁmw fevar
(@) What are the different types of global

environmental problems ? Present a

brief note on air pollution. - 6+4=10

mﬁh"fﬁ@*ﬁﬁ‘w%%9
@W@Wﬂﬁwmm| "

o
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D)

()

@)

Define environmatal geography and
discuss its scope in detail. = 4+6=10

AR QLT ! i iRe R AR THCH
R =MCeTe 30

Give a brief account of causes and'
consequences of global warming.
5+5=10 .

TR TIofTR e S SR T 5
feran

What is water pollution ? Discuss the
effects of water pollution on human life.
2+8=10

ﬂﬁﬁ@qﬁvweﬂaﬂ—oﬁia@«m

AATE WA 1|

What do you mean by earthquake
hazard ? How do you prepare to save
life in the occurrence of an earthquake ?
Explain in detail. 4+6=10

St el T R e 2 o e
G TR PIRCY (AR A T IR v
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(/ What is drought? How does it affect
man and his environment?. 4+6=10

YR T3 o2 R Tow e o
ARIS 2rel (omiR? <

(g) Hov.v does flood occur? What are the
main causes of flood problems of

Assam ? ‘ 446210
TN (A 2 2 o7 -
R e ARAT TR T

(R What is climate change ? Discuss how
climate change affects environment

o 4+6=10

GRS (FET ACR CoHATR o 3
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OPTION - B

( Cartographic and Quantitative
Techniques in Geography)

Paper : GGY-RE- 5026

The figures in the fnargin indicate
full marks for the questions.

Answef the following questions : (any seven)
1x7=7

o eniaRe Ted ol ¢ (R ehy)

‘(a) What is thematic map ? |
Remfofes TAba &2

(b) Give an example of primary data.

el S €t Tarel fdl|

(c) What do you understand by sampling?
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(d) What i ‘
) at is meant -by percentiles ? (k) What is mode?

“TOI I | ?

| o ‘%W? - . = e
" {e) What is longi - | |
tude ?
gltude ; : () © What is the shape of the earth ?

it : |

STONTER (e | AR P! G 42
(1 Define arithmetic mean, | : low

| | 9. Asnwer any four of the following questions :

oM M st oy 2x4=8
(g) 'Define scale. o R Bifas! e el vl

F e | |

o : ‘ . () What are the types of dispersion ?

(h) How to calculate sténdafd deviation ? Ry A iR ePREAR e
on : .

T 3 AR Roem Ry . A
S VR 2 N (i) Define cumulative frequency graph.
) Mention one use, of map. - HET IIQTO! (R T fa

(#1951 RS e ' '
Rl .
' (iij) Write two uses of meridians.
wifeicaE 76! I9e T

() Give an €xample of great cifcle
ST o1 TR iy
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(iv) Wh'at is tabulation of data ? |

O Siferpieet ﬁsg

(v) Difference b
etween prim
d
secondary data. ary ata and

vewﬁaswmf%@wsm-onamﬁm

| (Vi) What is sample sSurvey ?

Wﬁw%y

(Ull) leferenCe .

longitude.

me IR =ity By

(viii) What do you understand p
geographlcal survey ? ’
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3.
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Answer in brief : (any three) 3x5=15"

maswm (Rt fofon)

(i) Discuss about different types of

sampling.

WWWWWW|

(i) Classify maps into different types.
o o oeRS RR S

(i) Write a note on zenithal projection.
St TR R @t G B
(iv) Write on the importance of carfcographic

study. ‘

mmamﬁwrmﬁa@ﬁmm| :

(v) Explain- the ‘concept of measures of
" dispersion.
- farmeld 1 (o el ARETE! RO A |
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(vi) Write a note on merits, demerits and
., uses of median. |

YO 4, Al W g Ra <

" (vii) Explain briefly about the presentation
~of data.

AR U7 Borgiopy Raws waes

= - |

(vii) DiscussAth'e importance of data in
. 8eographical study wity, examples. -

2O SR AR S ey R
CAIRITAZ TS M ~
4. Answer th¢ f0110Wing: (any three) 10x3=30
©eTe TR B foray Rzt ffsy)
(@) Explain with exam
significance of quan

geographical study.

T S i TRIRTS rafer o
Fowen St gt

3 (Sem-5/CBCS| GGYRE/G 16

Ples about the

10

tities methods in _

(bp) Explain the meaning and scope of
cartography. Difference between
' hy.
itio d modern cartograp
tra§1t10nal an s

s Ra [t
SR R o aRe R |
WI&'WW%WW@W.W.
g s o

(c) What are fhe different types of map
c _ . !

projection ? Explain the con.strucuon

procedure of conical -projection along

4+6=10
with its use.

‘ SRR B 2 W
g wferssR Rfen '
w@w«wmaﬁm%a}mﬁﬁm

g
(d) Explain'the concept of measure of

central tendency along with its types
and use in geographical study.

e 2R AR R T ) T
wéﬁmwﬂm@wmm«

- fFam

Contd.
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(h) erte 'a note on merits, demerits and

d median. 5+5=10
(e): Calculate medlan and mode from the use of mean an
following data set: 4+6=10 . T snﬁ]-ﬁa ad, C"TW iR JIIW ﬁm
o7 BT T SRR o[t w1 W 7 &1 (o ferat|
fefa 3= 8 ‘ I
| Class Interval 120-25125-30{30-35035-40[40-4545-50] 50-55 [ 5560 - -
e R |
Frequency 14128 | 33 |30 | 20 15 . 131 7
WIS

() What is Correlation? Explain the
characteristics of correlation and the

technique of measurment with

‘examples. 2+8=10

woTrE e Wﬂﬂiﬂw QNS G,
NRTIE (@ S I '

(g9 What are the different. types in
measures of dispersion ? Explain the

characteristics and objectives of

dispersion in detail. 5+5=10

ﬁ%ﬂmmﬂﬁmmﬁﬁiﬁh Rewog
hﬁ@mﬁmﬁmmw.

: . 3000
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